NETST74—2A4

FE1 | A | B8 | FEE | 6% | B | & B1 B2 B
RFE4E 018 | | BFFHE 0.79 Al pX; (1-p)X; X;
%%%E 082 | | BFFHE 0.21 A2 r(1—X;) 1-r)(1-X)) 1-X;

0.38 0.62 1 i 0.23 0.77 1 &t Y; 1-Y; 1
=pX; +r(1 —-X;)

PH | ZFHE [ FAKE = - T

i 0.18 0.38 Y r +(p r) Xi 3 K
2 0.29 0.30
3 0.30 0.37 r =
4 0.33 0.28 1- X 0 38 X 018
5 0.35 030 r=b p—-r=a FRLr=_———_——p=0463-0.220p
6 0.70 032 r=php p=a+b - 0.23 0.79
. . 28 r= — p =1.095 —0.386 p
. L 20 r=03861 p=-0.1907 +0.3861 =0.1954 - 1-079  1-0.79
9 0.77 0.18 120

040 . @ 1.00 — RN =y Sk

0.35 ¢

0.30 * o ¢ 0.80

y ° a = —0.1907
w P L 060
oo b = 0.3861
4%0_]5 y = -0.1907x + 0.3861 0.40 \.

0.10 Yy = aX +b (01954, 03861)/'\

’ 0.20

0.05

0.00 0.00

0.00 0.20 0.40 0.60 0.80 1.00 0.00 0.50 1.00
TFLE p



= =)=

0.00

0.20

0.40

0.60

0.80 1.00

Y; X;
: s BER | SElk® r=————"""p
. i 018 038 1-X; O%g—Xi .
2 0.29 0.30 #hig1: r = —— — ———p =0.463 —0.220 p
. 1-0.18 1-0.18
> 2 — Hhigig: r = ——-_ — 272_p =1.095 —0.386
y=-0.1907x + 03861  ® < 4 0.33 0.28 T = 12079 1-079P =+ ' p
5 0.35 0.30
6 0.70 032 ﬂ
7 0.72 0.27 1 2 3 4 5 6 7 8 9
000 020 080 100 8 0.79 0.23 0.463| 0423| 0529| 0418| 0462| 1.067| 0964 1.095| 0.783
9 0.77 0.18 0.220| 0.408| 0.429| 0.493| 0538| 2.333| 2571| 3.762| 3.348
Mg BRI BE i ﬂ
EE 0.18
*iEiE 082 p r r2 r3 r4 r5 r6 r7 r8 ro9
% 038 052 3 0 0463| 0423] 0520 0418] 0462| 1.067] 0964 1.095| 0783
1 0.244| 0014] 0.100] -0075]-0077]-1.267]-1.607]-2.667]-2565
B1 B2 H
Al pX; (1-p)X; X; 120 ﬂ
A2 r(1-X;) 1-nNA-X) | 1-X; '
5 Y; 1-Y 1
b p—r=a
b p=a+b
p = —0.1907 +0.3861 =




